SOLUTION OF TRIANGLES

3.2
Solve problems involving three-dimensional objects 

Task 
: Answer all the questions below.
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(1)
    The diagram above shows a cuboid with a 

     rectangular base, ABCD. Given that 

      AB  = 6cm, BC = 4cm and CG=3 cm. 

      Find
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                     = 0.8589
       ( BHC  = 30.810
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(2)
       The diagram above shows a cuboid with a 

       rectangular base ABCD. Given that 

       AB = 16 cm, BC = 4cm and CG=13 cm. 

       Find 
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       The diagram above shows a cuboid with a 

       rectangular base ABCD. Given that AB = 6 

       cm, BC = 4cm and CG = 3 cm. 

       Find
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BGD.
	[74.44(]
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[ 4.772 cm ]
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[ 17.91 cm ]
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The diagram on the left shows a cuboid with a rectangular base ABCD. Given that BC = 8.2 cm, CG = 6.42 cm,        AB = 12.03 cm and � EMBED Equation.3  ���ABG =110.02(. 





Find the length of AG.











H





G





F





E





D





C





B





A





H





G





F





E





D





C





B





A





D





H





E





F





G





C





B





A





A





C





G





H





E





F





B





D





D





G





H





G





C











A






























































































































































































































































The diagram on the left shows a cuboid with a rectangular base ABCD. Given that DG=6.1 cm, BG=7.2 cm and � EMBED Equation.3  ���BGD =41.02(. 





Find the length of BD.
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